Question Paper Title : TI_23

Date of Exam : 19-07-2019 10:00 AM

Reference 1D:(19045) HIsar: 2898 = (126 x 20) + ?
A.378
B.252
C.126

D.368

Answer: A.378

Reference ID:(18758) Fill in the blank with the correct noun for the given sentence:

A whole range of physical advances was required for the of human
language.

A.developing
B.developmental
C.development

D.develops

Answer: C.development

Reference 1D:(19007) IIE]TI'Q'IT[@[ fSTeg 3iTed.

A.39
B.38
C.36

D.37

Answer: C.36



Reference ID:(19025)  Weiiaideh! HIUTT T8T Hidd! Yax 9T 3HTR?

AT
B.gY

CH

D.H

Answer: AT

Reference ID:(18785)  Yald A A A1 AR 3.

A.RigT STl STTedr=AT SHTaRTd gl

B.RigTlt SXbTed SMTedT=T STaRTd Y.

C.Rigrean S Te STTed Tl JTIRTd GHeA.

D.Rigra1 SXdb1ed! siTer=aT gHal.

Answer: C.RigTA1 SIhToT ST SHTaRTd GH.

Reference ID:(18781) b SInft 417 Weg 4Re ST RTeg UT R,
I

Aeld
B.UI6

C.QRTaT

D.A&

Answer: B.UTS

Reference ID:(19044)  U& H1H A 3101 B § U 30 fGauined ol &rdd. A 7 16 foaq &@
FAHR, B 7 IARd B 44 feauine) quf ordl. Iqui &1 Teer B fadt
feautd qof ®ea?

A.30 feag
B.40 f&aqg



Answer:

Reference ID:(18775)

Answer:

Reference ID:(18770)

Answer:

Reference 1D:(19018)

Answer:

c.60 fedag
D.70 feayg

c.60 fedag

Choose the correct form of tense for the given sentence:

I for 21 kms during the marathon that by Jio.

A.ran, was sponsored
B.will run, will be sponsored
C.shall run, shall be sponsored

D.had run, had been sponsored

A.ran, was sponsored

Choose the most suitable conjunction for the given sentence:

Curfew will be imposed, the situation improves.

A.if
B.as

C.unless

D.but

C.unless

QTS PIU WU T Jed: HERTY AT 3Hg?

ATYEL
B.&IadIe

C.UeRl
D.dRat

D.dRdlt



Reference 1D:(19009)

Answer:

Reference 1D:(19013)

Answer:

Reference 1D:(19040)

Answer:

Reference 1D:(19038)

ST YRaTHed Qo] S0 STRTHYT HTas) AT (SATeT Cauvery 3!
fafge SiTd) 379 Uraa?

A RIS
B.fFafids

C.HR&MRI
D. SRR

D. SRR

BT AP ITM & HRAHENS WIeliaten! B IJeamed fUT 3g?

AJTR U
B. O T
C oI

D.3{THH

B.AY U

Yeaq e o difge &1 df Tenl fAfAemed) 21 grea-d UReH Al Fehdl. SR
d UHADHIUR 50 Hier gR 3, R ¢ fabdll oI+ Ua &hRd g ?

A.61 A
B.56 fhH/AN
C.63 fhHa™

D.60 fpdiam™g

D.60 fhH/arg

Y. 4t gid da o9 Afg=airdt 25% w4t dval T, g i+ Afg=gi-i did da-
O da-lde dlead ol 1. Xdl I da-maed fabdt cadb dare Teil?

A.33.33%

B.42.85%



C.28.56%

D.16.66%

Answer: A.33.33%

Reference ID:(19021)  3fideiar 2018 A, R "GEM" TG A g ThIaIGD
BEIEIN

A.3Rd

B. ST SUATR
C.URIhId AETETR

D.fée IR

Answer: A 3R JHx

Reference ID:(18779)  faoiedr Wegrerq favgrd 2rsg i,

AUy

B.3{Urg

C.34gl

D.dledl

Answer: C.3qdl

Reference ID:(18756) Choose the correct form of adjective for the given sentence:

Sahit does not have any moral principles. He is not fair and just. He is

A.irrational
B.unscrupulous
C.harsh

D.valueless



Answer:

Reference ID:(18791)

Answer:

Reference ID:(18774)

Answer:

Reference 1D:(19043)

Answer:

B.unscrupulous

eidl deTdie S{earal YhR 3ficsl.
TR Y b 1 UTg TS!

A YT 3fod
B.hacIiaNT 3y
C.XTec Nt 3y

D .forafaRior srem

B.haqyan 3ieag

Which of the following options is not a compound sentence?

A.The students can choose Kannada or they can opt for Hindi.
B.Applicants should either be M.Phil. holders or have 5 years’ experience.
C.Kishkinta was neither too crowded nor too sparsely populated.

D.Mynas are known to sing well.

D.Mynas are known to sing well.

A 30T B § S18% U fashd 3ed. STedhe fdhHd 28,000 TUY 3MT8. A &
Tquf IHATR 10% e <dl, TR B BT Ufgedl 20,000 TR 12% 30T IR 8000
JUTIER 8% Je <dl. i fag! feadiadia me H1 38?

A110 2.
B.180 %.
C.240%.

D.200 %.

C.240%.



Reference ID:(18769) Choose the option with the best prepositional phrase to complete the given
sentence:

| have spoken to her on the phone but would like to meet her

A.at length
B.in abeyance
C.out of season

D.in person

Answer: D.in person

Reference ID:(18800)  J&Id ATav™IRI=Al A1 31Tl Uaid (s,
dlerd Id graqu! -

AU et DRl

B.hdil Y& HodTdRaTrd]

C.gU AR 0l

D . 3MTh AT YU HU)

Answer: C.gU HRR <ol

Reference ID:(19035)  WTeil fadiedl Yacided) 3ichiar Ueb fAfRIS oy faial 3118, AR geblal ohH
3l

8, 18, 64, 272, 1395, 8424, 59045

A.18
B.8
C.272

D.64

Answer: D.64

Reference ID:(19005) 2019 T HU S@ATATHED Higaced] Wide UHE IgamrRf SR SR1fd®
3t 20 YT HTeiedl ThHd YR Ke=Td A1d Jiv.



Answer:

Reference 1D:(19019)

Answer:

Reference I1D:(19017)

Answer:

Reference 1D:(19028)

Answer:

AR A 3T g 3T 2019 TIHR Hivh Ridwar?

0N

A G Sl SihifdP
B.JoR hew’
CIhd A8Td

D.CRR g&H

AGTH St Siewiidd

groTfedr el AeRIgTA

A DI
B ITHTRY
ok 1INl

D. W UNTS

C.TTedl

ToId THIRUTTAT UiYH HiHeR argd.

THT Siaqaed 45 diord Ted 3Med SUS! 20 TGN 3HTed. SR ST

RSB RAT U Jod MaSHl 91d 38d, R Fasadl dod I A=

IHTHA B 3Mg?

A.4/9
B.5/9
C.3/4

D.4/5

A.4/9



Reference ID:(18766) Which of the following options best combines the two given sentences?

The new hair oil will stop hair fall. The company claimed.

A.The new hair oil will stop hair fall and the company claimed.
B.The company claimed that the new hair oil would stop hair fall.
C.The company claimed, but the new hair oil will stop hair fall.

D.The new hair oil will stop hair fall, but the company claimed it.

Answer: B.The company claimed that the new hair oil would stop hair fall.

Reference ID:(18767) Choose the correct form of modal auxiliary verb for the given sentence:

| hope you mind waiting so long.

A.don't
B.needn't
C.shouldn't

D.couldn’t

Answer: A.don't

Reference ID:(18794)  Ueld aragiadia favivor sfier.
AT GEHTT ST Id Sdl qaaTeRqu,

Answer: C.WH

Reference ID:(19046)  &Tdil fadiedn Y@ dd il T ARy od foaidr 318, ATER Jobiar 6hd
3l

45, 131, 228, 338, 466, 619, 800

A.131
B.466

C.619



D.45

Answer: B.466

Reference ID:(19029) &M Sfguli<dl TUMHH 14 quidl B 3MTe. SR UTd Iu(ydl, Hicyl sfguia ag 8
Ao sfguftean agrean dHue §id, R i adHH T BIeT?

A.14 I¥ 30T 30 T
B.13 I¥ 3fIftT 28 9§
C.12 9y 371for 26 9N
D.15 aY 371f0r 32 99

Answer: C.12 H@f 31T 26 a'ﬁ‘

Reference ID:(19011)  foidl &1 AaheRT ("Afgcial HharT) 81 HheRl $b R 31187

INCEIEN
B.3BHGTR

C.ATTR
D. 3T

Answer: D. 3 ATETE

Reference ID:(18761) Choose the option with the appropriate suffix to complete the given
sentence:

In a conversation with another applic , your ability to empathize must
be visible.

A.-able

B.-ation

C.-ee

D.-ant

Answer: D.-ant



Reference ID:(18754)

Answer:

Reference 1D:(19001)

Answer:

Reference 1D:(18788)

Answer:

Reference 1D:(19030)

Choose the appropriate option with the correct punctuation marks for the
given sentence:

i want to go for a change from the normal crops he says

A.i want to go for a change from the normal crops; he says.

B.“l want to go for a change from the normal crops,” he says.

C.l want to go for a change from the normal crops,” he says.

D.“l want to go for a change from the normal crops, he says!

B.“l want to go for a change from the normal crops,” he says.

eId 1T gaiandiel 3rge arREaR HasT.
SYSITET 3 B VIR AR ORI UWR g I B! Gord .

A3 firesor
B.UTrdlel gorol

C.dosUTIT 3T HXdhTd SIToy

D. A<l H3Id goT

D. <l $31d goT

g gt fAas .
Jel Fasueld qie! arg Al

Afasa
B.fasa
c.fFasda

D.FagA

Afasa

31307 31fUT faii i 9dd 9O UIRR 3FIhH 7:5 3115, <19 auqd! 3RUrd
I 30T 3 TEIHR fa-Te=aT T TOIRR 1:1 318, T aui-T SfPUr a9 31foT 3
aufgd farre=an satmdid quiR S gid?




A.3:1
B.2:1
C.1:2

D.1:3

Answer: B.2:1

Reference ID:(19002)  WTelciUdh! BV 1S UG HERIFTHYT ST A SId?

A T[T
B.9ds

C.Ual
RG]

Answer: B.4Gg

Reference ID:(18790)  fohaTUGIIUR Hared arg FUM! fHas o,
T LAY dTerdrd.

A%l
Bl

CXXMH

DA

Answer: A.F\J}%ﬁ

Reference ID:(18797)  Uald ArTdd [aRTHTg 3fics.
fa. 9 @iedy, fauredl RRIHR, TdHe W Ay, d. J. Hled JARBAT 3Hdh
AT ARAB I YT ITHITH B TRIST a1 o bl

INGICIEE
B.[dwcufs
C.Wcufa™

D.IUYUifaHR

Answer: C.XufaRH



Reference ID:(18789)

Answer:

Reference 1D:(19006)

Answer:

Reference 1D:(19032)

I U gaig fagH MesciedT SIRT 4R .
BId 3118 X 3MMeft bt urfge.

A
B.HRdMT

C.hA
D &30

A BN

YRATAT B0 IUTHE HATHS S JTHIT HITTHS STaTH Ia1quaTdid]
WTE fgaer MR sfarfd 384.40 BT ol Hot el smg?

A.USTd

B.HERIY
C.gharon

D.I[SRId

INCICS

ﬂﬁwwwﬁﬁﬁwwwmwmw
?

Shop # 1,Al Fahidi Street,Opp Musalla Post Officec Near Dubai Museum -
Dubai - United Arab Emirates
+971 50 245 9750

(i) Shop # 1,Al Fahidi Street,Opp Musalla Post Officec Near Dubai Museum
- Dubai - United Arab Emirates
+971 50 245 9750

(i) Shop # 1,Al Fahidi Street,Opp Musalla Post Officec Near Dubai Museum
- Dubai - United Arab Emirates
+971 50 245 9750

(iii) Shop # 1,Al Fahidi Street,Opp Musalla Post Office« Near Dubai Museum
- Dubai - United Arab Emirates
+971 50 245 9750

(iv) Shop # 1.Al Fahidi Street,Opp Musalla Post Offiee Near Dubai Museum
- Dubai - United Arab Emjrates
+971 50 245 9750



Answer:

Reference ID:(18757)

Answer:

Reference 1D:(19039)

Answer:

Reference ID:(18759)

B.ii
C.iii

D.iv

D.iv

Choose the correct form of adjective for the given sentence:

The robber was handed over to the police station.

A.most
B.nearer
C.nearest

D.near

C.nearest

UG TR 50% dTe ATell JUT W0 ATcehTH geb i 8T el 80%
3T eTahell AT A4 U {70 STucl. Juedr i g dad Juarsieh are
i Afg e GUTia TR fiiesd gIdT. SR &rdl 9RT=AT |4 Afg=aiae uam
o ffafad Yaed & T AT AR oo HRE! ${d R, Tl
SRISR -TdH YIRTEAT bl Tadh e v Afg-ard fasdia?

A.30%

B.40%

C.45%

D.25%

B.40%

Choose the appropriate collective noun to complete the sentence:

The children saw at the zoo.



A.a pride of lions

B.a pair of hyenas

C.a deck of artistes

D.a bunch of clowns

Answer: A.a pride of lions

Reference ID:(19048) Ul AdkilH 96 ST Scid b TSI HRMUDR fadhd Bt AT TR
TaHAR] Bl TSI Wid! fhHd! Tad! 3Rid. SR M o U&dTes Ared garel
TAHARIAT gUT ¢adh TR d fddhd @ ai fash! fbdd &1 s’

AX. 132
B.®%. 120
C.®%.123

D.%. 100

Answer: A>. 132

Reference ID:(18799)  'Uf&d T XsaTd fdell TSI 3Tell 3HTga?
A3
B.2
C.1

D.4

Answer: A3

Reference ID:(19012)  ThgaR 2019 3ofl, HERIYHE Ud YU H3Tid- GoRIPRUT 0T
faGgTDHRUI Ted UheuTd IgHTe bl

A.YS



B.3YAI
C.digl

D.H1HIS

Answer: B.3Yl

Reference 1D:(19014)  WhgdRl 19 YR Ud YYTH=AT HERIFTAT faeied Hetexwar Qi sieri

I N——

(ANTDR) < Tiad SISUIRT §HIHR TRTUN alifdbd ahal.

A T

B.YdH[b

Answer: DHE}T

Reference 1D:(20045) - S — 5 reEed s 1% ed

HITUATHTS], AT Tehdl dallel YR rdr:

A.660 frHaN
B.680 feHl/d™
C.700 fHHaa™

D.720 THH/a

Answer: D.720 THH/a

Reference ID:(19034)  3{TS1 AMAR A R, 1250 fEaqHdR Tcasaral HIordl fadd e

AFUIR
B.IRAR

C.X[PdR
D.XMAR

Answer: AJYUdR



Reference ID:(18764) Choose the correct form of verb for the given sentence:

In the Morril Act, the Party granted federal lands to the States
agricultural and mechanical arts college.

A.for establish
B.to establish
C.establish

D.establishment

Answer: B.to establish

Reference 1D:(18760) Choose the option with the appropriate suffix to complete the given
sentence:

Athletes learn to use their muscles more effect to improve their
performance.

A.-ively
B.-edly
C.-ive

D.-ion

Answer: A.-ively

Reference ID:(19026)  dMgTAT glcdlciid Y& HRUT BUM!:

A.gdd HHT ST JHTId qraor
B.9 Gl¥
C.3M g Y€ gl

D. 4! dTqHH

Answer: A9t ! SIRd JHTMTd dTqor

Reference ID:(19022)  3(RTISTY ST BVl HAHIHIT, SR Ao WREHENT TR0 §
fafRry TRIET WRE gob Sirs1ied 8Id 3&d aR XM HIfgdidl THR &3
ehd ATGI?

A.FTH 8(2)

B.dH 9(2)



C.HTH 11(2)

D.&aH 10(2)

Answer: A. D clH 8(2)

Reference ID:(18778)  fediear wufaite! ary favgrif uafa 2ner.
TN -

Answer: B.faam

Reference ID:(20044) S TIET Z2lderel Slef Tiehiel Tehiahial JEaIee oATd 38dTe, d¥ @eiiadsT & 1ordar fassg
TaR gisa?

O

©

a8
N/

P —
e —




Answer:

Reference ID:(18768)

Answer:

Reference 1D:(19036)

Answer:

Reference 1D:(25015)

0

Choose the appropriate prepositions for the given sentence:

When | sent the proposal my higher authorities, they turned it
mindlessly.

A.to, up
B.for, on
C.on, down

D.to, down

D.to, down

e SNt A St fag §aar guf &
5, 6, 10, 33, 128,

A.375
B.445
C.565

D.645

D.645

A feded GF RIMGIGREM 16 [aiHed ¥ < bl 0T B ad H1H 12
feauid &% Hdl. C T AGAH o HH i Had 4 gawid guf . Thel C

d & fosdt feaaid & @l

1
9_ fgag
5
2
9— fgad
5
3
-

10 f’eaw



Answer:

Reference ID:(18765)

Answer:

Reference ID:(18763)

Answer:

Reference 1D:(19047)

Answer:

9-feaq

Choose the most suitable determiner for the given sentence:

are the books | was planning to read.

A.That
B.This
C.Those

D.Which

C.Those

Choose the appropriate articles to complete the given sentence:

rally was organized by Labour Party to protest against
rise in price of petrol.

A.A, the, the, the

B.The, an, a, a

C.An, the, an, the

D.A a4, a

A.A, the, the, the

Teh] URI&HE SHIel 56% T[0T fHaTel, TR 90% 0T fiasTer 31for faret 650
U1 TEUTS 65% T[0T fiesTal oR < fasmat Tepur 7o Frer.

A.2110

B.1250

C.2450

D.2010

A.2110



Reference ID:(18782)

Answer:

Reference ID:(18773)

Answer:

Reference 1D:(19042)

Answer:

TTeltd arerdie SreRfad Wear foiT s

AT

B. Al

C. gD e
D.JHYfefT

B.TAlfeiT

Choose the correct form of verb that is in agreement with the subject :
The public requested not to walk on the grass.

A.are
B.is
C.has

D.do

A.are

A BT ITHT THRIT=AT TahaR it T fagh! feAdiar ok B 81 @ia! fhAdiar
I, T TR W& 150 ST R i1 3eedd. SR &l ardidt
faspt fohrd IR 3T SMTOT T SrEiT 20% AT fesd 3/@d, av i fawt
fhd el (Fuaias).

A.2500

B.3000

C.3200

D.4500

D.4500



Reference ID:(18780) & ST IR SIIS2Teg foral.
YR RS A5HE U gl ol ST,

A TAIRUET

B.clcldcidiR

C.dddRP AR

D.UgTeTd

Answer: B.clddddR

Reference 1D:(18784) L\J,Gnlﬂ I YR 3Nal.
3Tt UTe et &1 ora Yo Wag ANTa.

A gt
B.fary ara
C.Igad aI’
D.had a1

Answer: B.fay ar

Reference ID:(19023)  HRATAT WIEAUD! 10T HITIHED T&T 3101 HIt! Glald IdTGT Hal STa?

AJdhald ferTaamrdr uer
B. 3T

C.UfgH gre

D gd@eid e

Answer: C.U@T[ Ylc

Reference ID:(19004)  PIUIAI &K1 HIALATGR HfAUFTHYA HITHWHT gaeblell TSN HTcl?

A.447 &I HIIGT



B.43% g&Xil HIIGI
C.427 Gl BRG]

D.45% &Il BIGI

Answer: A.447 TEET HrICT

Reference 1D:(19027) G E =5, RED =27, dX DANCE =7

A.26
B.28
C.27

D.25

Answer: C.27

Reference ID:(18798)  TTeTd 7 SYUIRT g fAgeT.

AS, I, d
B.4, oI, I, d
cH, u i
D=, =, |

Answer: B. 9, oI, I, a

Reference ID:(18786) g IR gty fHas.
g, 1. 37 i it 8 Hrast Yax S a1 a1

A. BRI I 3G
B. G IET 317
C. Y I TR,
D.'3(T’ =4 38,

Answer: A BIEET Y 3TG.



Reference ID:(19008)  IHIICH dca USRUIC [REBR 2019 AL Heg<dl B! Riareh HeRTSl
SITRRTPTY faHFdesT= Uit S gldl?

A54
B.24
c25®

D.64

Answer: D.64 kL

Reference ID:(18752) Choose the option that has the correct spelling.

A.Aproxemately
B.Approximately
C.Approximatele

D.Approximetely

Answer: B.Approximately

Reference ID:(18795) 41 uafg fAagH SISt @rar.
TR

ATGl
B.YTdUC

[aY

C.garil
D.fgRk

Answer: B.YIdUg

Reference ID:(18783)  Ueld aladd ISR a1ed &,
fordl IHTST 318,

A.IHTST fohdlt 3Tg?
B.3HISI GUd 3Tg!



C .ol g1 3FTEM
D.frdl 1T 311 B!

Answer: Cﬁv_cﬂéT REAE]L

Reference ID:(19033) Tyt 9.25 ¥ ufd fhariaa fasmt exuarmd! fexmomare fasha™ srsma
8.50 Uf forariy 3Mfor 11 3 ufd fhelire sRIciedn dicasr=dl g YR
fat Ui i geTd?

A.7:5
B.5:3
C.6:5

D.7:3

Answer: D.7:3

Reference ID:(19020)  3{UIcl TR 58 gd BV 3Hfcidhs HIUT YR Weslgd! g dxuard
3{Teil?
AR ORI dgadx
B.Jqt HYTHT

CHi s

D faRTe Piged

Answer: AR T dgaax

Reference ID:(18755) Choose the option that best punctuates and capitalizes the given sentence:

january 26 1952 is one of the most significant dates in history

A.January 26 1952; is one of the most significant dates, in history.
B.January 26 1952 is one of the most significant dates, in history.
C.January 26, 1952 is one of the most significant dates in history.

D.January 26 1952, is one of the most significant dates in history!

Answer: C.January 26, 1952 is one of the most significant dates in history.



Reference 1D:(19024)

Answer:

Reference ID:(18787)

Answer:

Reference ID:(18771)

Answer:

Reference 1D:(19041)

1985 HdId acs faforas Af-RIve A= Ul HaeT SFTHAEE
HPpc MHSIUIRT Ufgdl TRe01 HRG ekl BiciT?

ATl fgaruft

B.7fId Tt

C.3fg faar

D.geiell Myteg

B.77d T3t

et HIBTd URGdT HIUIMTS! vy gy e,
f @i Sl €19, (quf yeeres)

ATl

B. Tl BIal
C.3ral 3118
D.8Id 318

RIS

Choose the appropriate conjunctions for the given sentence:

The jewellery is heavily insured; don't worry.

A.but
B.and
C.so

D.that

C.so

Yed WRRRT 48 fHdl/ard I 41dad S/ &arT, ot 50 i $far S
YAl des 40 FAAC Taer Sl HRUIMNTS! T ¢+ el di= urara?

A.60 Tdtamg
B.50 fhHI/AN

C.70 THHa™



D.40 fpdiam™

Answer: A.60 ﬁﬂ:ﬂﬁﬂﬂ

Reference ID:(18777) ‘&YX IT Xsardl JHMTAT g T

AT
B.3XYPR

Answer: A.ﬁ?‘l’sC

Reference ID:(19016) 1899 Hed, WIclicideh! PHIUTAT lsTR1AA f Hadal HIURTH 3fde’ ATHEG
DIAGRIR SURIIISHT Je 30Tl

A4S fai
B.dls dA™Ie
c.dre ar

D.dl8 Hei

Answer: D.dlS W

Reference ID:(19015)  "f¢ e 3iTh gexuaTso § 2N Sdedt dlcerle aad BT TRd?

A TTTIRT I87Td

RISEUSE
c.Ol fdsm
D IR IS

Answer: A TIART AT

Reference ID:(19010) YR Tl IO HIT "dhg 0T AT &F' i1 g al?



AHITI
B.HITII
C.HIT I

D.HIT IV

Answer: AHIT |

Reference ID:(19037)  Resrwn Sirft I S FagH @t quf &
1,2,10,37, 226

A.75
B.84
C.95

D.101

Answer: D.101

Reference ID:(18793)  JaId ATHIAT 3R faRISumaT v fAger.
d

A FTdahTieIh
B.U%

C.ulls

DA

Answer: C.uls

Reference ID:(18792)  U&ld ArTdiel RRAT ST UhR I3,
Rl UGl TS| oI I DIl US| |

A YT Y
B.hacIiaN 3oy
C.Rreciil 3y
DAERIIERI I R esps)

Answer: D fepafavivor s



Reference ID:(18796)  Jeld dlaided IRy o 3T el
ST die faud HRUMAT! Pl [GHd ATg!.

A4

C.oR

DU

Answer: AU

Reference ID:(19003)  HRAMHIA WIeiicte! o IUT AT Ufdeiigra TR &zmHed UrordioRT
SFRTOMET ST el Blail?
ASTR UG-

B.HERTY
cfor
D.9f&H S

Answer: AJTR U

Reference ID:(19031)  ITRRRI HIal.
22, 50, 68, 96, 85 & 33

A.56
B.39
C.59

D.26

Answer: C.59

Reference ID:(18776) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

| carried on with my work.



A.hold

B.continued

C.stopped

D.broke up

Answer: B.continued

Reference ID:(18772) Choose the most appropriate usage to fill in the blank in the given sentence:

The local are always helpful to visitors.

A.residence
B.residents
C.resides

D.residential

Answer: B.residents

Reference ID:(18762) Choose the appropriate articles for the given sentence:
avalanche hit Lucerne, small town on banks of
River Seine and destroyed many lives.

A.The, a, an, the
B.An, a, the, the
C.An, a, the, a

D.The, an, a, a

Answer: B.An, a, the, the

Reference ID:(18753) Choose the option that has the correct spelling for the missing word in the
given sentence:

In order to secure the house, William made an payment.

A.earnest

B.ernest



C.erneast

D.earneast

Answer: A.earnest



